Reg. No SET 11

CONFEDERATION OF KERALA SAHODAYA COMPLEXES
COMMON MODEL EXAMINATION, 2019 - 2020
CLASS X
SOCIAL SCIENCE [087]

Time Allowed:3 Hrs Max.Marks:80

General Instructions:
The question paper has 35 questions in all.
Marks are indicated against each question.

Questions from serial number 1 to 20 are objective type questions. Each questions carries
one mark. Answer them as instructed.

Questions from serial No. 21 to 28 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

Questions from serial No. 29 to 34 are 5 marks questions. Answer of these
questions should not exceed 120 words each.

Questions No. 35 is a map question of 6 marks with two parts. 35 a from History (2
marks) and 35 b from Geography (4 marks).
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SECTION A-Objective type questions

1)  Which one of the following option best signifies this cartoon?

a. It cuts the other hand of democracy.

b. Power-sharing is not good between the state and the centre.
c. The shocking difference between the Blacks and Whites.

d. The overuse power on African people.

2) Studies on political and social inequalities in democracy show that:
a. democracy and development go together.
b. inequalities exist in democracies.
c. inequalities do not exist under dictatorship.
d. dictatorship is better than democracy..

3) Minerals are deposited and accumulated in the horizontal strata of
4) Which one is sectors enjoys job security?

a. Unorganised sector b. Organised sector
c. Both Aand B d. None of these
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5)

6)

7)

8)

9)

10)

11)

Why did European powers met in Berlin in 18857 1
a. To settle their disputes
b. To divide a few European Countries
c. To divide Africa among themselves
d. To divide Asia

Who among the following has painted the image of Germania? 1
a. Nathaniel Currier b. Philip Viet
c. Edward Bailey d. Richard Saltonstall Greenough

What was the Civil Disobedience Movement associated with? 1

Correct the following statement and rewrite.

Between 1980 and 1993, the Belgian leaders amended their constitution 6 times so as to work out
an arrangement that would enable everyone to live together within the same country. 1

OR

Srilanka emerged as an independent country in 1950.

Arrange the following in the correct sequence: 1
(1) Blast Furnace (i1) Pig Iron
(iii) Shaping Metal (iv) Steel Making

a. (i) — (ii) — (iii) — (iv)

b. (i) — (iii) — (iv) — (i)

c. (iv) — (iii) — (ii) — (i)

d. (i) — (iv) — (iii) — (ii)
In the question given below, there are two statements marked as Assertion (A) and Reason (R).
Read the statements and choose the correct option 1

Assertion (A): In February 1922, Mahatma Gandhi decided to withdraw the Non-Cooperation
Movement.

Reason (R): It was done due to Gandhi-Irwin Pact.

Options:

a. Both A and R are true and R is the correct explanation of A.

b. Both A and R are true but R is not the correct explanation of A.

c. Ais correct but R is wrong.
d. Ais wrong but R is correct.

When people produce a good by exploiting natural resources it is known as 1

(a) Tertiary sector  (b) Secondary sector
(c) Primary sector  (d) Service sector
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12)

13)

14)

15)

Arrange the following in the correct sequence: 1

(i) Peasants revolt against economic hardships in Europe.

(i) Slav nationalism gathers force in the Habsburg and Ottoman Empires.
(iii) Unification of Italy.

(iv) Unification of Germany.

Options:

A. (1) — (i) — (iii) — (iv)

B. (i) — (iii) — (iv) — (ii)

C. (i) — (iv) — (iii) — (ii)

D. (i) — (iii) — (ii) — (iv)

Match the following items given in Column A with those in Column B. Choose the correct answer

from the options given below: 1
Column A column B
A) Communalist 1. A person who believesin equal rights and

Opportunities for women and men.

B) Feminist 2. A person who says that religion is the
principal basis of community

C) Secularist 3. A person who thinks that caste is the
principal basis o f community

D) Casteist 4. A person who does not discriminate others
on the basis of religious beliefs

What is Jhumming Cultivation? 1

Study the picture and answer the questions that follow

Page 4 of 10



SULONIN. AURIFMTVERTYNIE
Apd
JoAssEM KIncHIvM
Sub  Noscerof vefeey

Which of the following aspect best signifies this picture of printer’s workshop?
a. It depicts workshop during 16th century
b. Galleys are being prepared
c. The printers are turning the screws of the press
d. All of these
16) What is the technique of rainwater harvesting? 1
OR

Wind energy received in abundance in western Rajasthan and Gujarat has not been so far utilized
and developed to the maximum. It falls in which category of resources?

17) is a monetary measure of the market value of all final goods and services produced in a
period. 1
18) ... is basically trade between two different countries of the world. 1
19) ... is a homogenous, naturally, occurring substance with definable internal structure. 1
OR
In...... high grade hematite ore is found in Badampahas mines in Mayurbhanj and Kendujhar
districts.
20) Which of the following is considered to be an environmental friendly fuel ? 1
(@) Coal (b) Petroleum
(c) Natural gas (d) Uranium

Section B- Short answer questions
21) What was Rowlatt Act ? How did the Indians show their disapproval towards this Act.? 3

Or
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22)

23)

24)
25)

Why did the poor peasants join the civil disobedience movement?.why did their relationship with
congress remain uncertain?.

Read the source below and answer the question that follows

SOURCE-A

‘Satyagraha is not physical force. A satyagrahi does not inflict pain on the adversary; he does not
seek his destruction ... In the use of satyagraha, there is no ill-will whatever.” Satyagraha is pure
soul-force. Truth is the very substance of the soul. That is why this force is called satyagraha. The
soul is informed with knowledge. In it burns the flame of love ... Non-violence is the supreme
dharma...

‘It is certain that India can not rival Britain or Europe in force of arms. The British worship the
wargod and they can all of them become, as they are becoming, bearers of arms. The hundreds of
millions in India can never carry arms. They have made the religion of non-violence their own.
SOURCE-B

“It is said to ‘passive resistance’ that it is the weapon of the weak, but the power which is the
subject of this article can be used only by the strong. This power is not passive resistance; indeed it
calls for intense activity. The movement in South Africa was not passive but active...”

SOURCE-C

‘I have no hesitation in declaring that if the principle that the Indian Muslims is entitled to full and
free development on the lines of his own culture and tradition in his own Indian homelands is
recognized as the basis of a permanent communal settlement, he will be ready to stake his all for the
freedom of India. The principle that each group is entitled to free development on its own lines is
not inspired by any feeling of narrow communalism ... A community which is inspired by feelings
of ill-will towards other communities is low and ignoble. | entertain the highest respect for the
customs, laws, religions and social institutions of other communities. Nay, it is my duty according
to the teachings of the Quaran, even to defend their places of worship, if need be. Yet I love the
communal group which is the source of life and behaviour and which has formed me what | am by
giving me its religion, its literature, its thought, its culture and thereby its whole past as a living
operative factor in my present consciousness.

SOURCE-A
22 (1) What do the British worship? 1+1+1=3

SOURCE-B

22(2) Which passive resistance is the author talking
about?

SOURCE-C

22 (3) What does Quran say about the places of
worship of other communities?

What is the need of using non —conventional sources of energy 3

Explain the importance of manufacturing sector in the economic development of a country? 3

Why is the growth rate in agriculture decelerating? How did the Government of India make efforts
to modernise agriculture? Explain. 3
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26)

27)

28)

29)

30)

31)

32)

33)

34)

Why do different individuals have different as well as conflicting notions of development goals?
3

OR

Do you think the classification of economic activities into primary, secondary and tertiary are
useful ? Explain how?

What is the function of the Opposition party ? 3
Examine the political outcome of democracy. 3
OR

Why are democracies unable to reduce economic inequalities ? Explain.

Section C -Long answer questions

How is culture a great agent of globalization ? Explain with example. 5
Who inspired the tribal peasants of Andhra Pradesh and how? 5
OR

Describe the incident and impact of the Jallianwala Bagh.

Mention the challenges faced by political parties in democracies all over the world. Explain in

detail. 5

“Distinguish between Intensive Subsistence Farming and Commercial Farming. 5

How do you differentiate federalism from a Unitary form of government? 5
or

Describe any three main features of Two-Party system

Explain the significance of the Tertiary sector. 5
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MAP skill based questions

35) (a) Two places A and B have been marked on the given political outline map of India Identify
them with the help of the following information and write their correct names on the lines drawn
near them. 1x2=2

A. The place related to the calling off Non-Cooperation Movement
B. The place where the peasants struggled against the Indigo Plantation system.

(b) On the same outline map of India locate and label any four of the following with suitable
symbols on the same given outline political map of India.

1x4=4
I. Salem - Iron and steel centre.
ii. Kandla - Major Seaport
iii.Hyderabad - Software Technology Park
iv.Mumbai - Chhatrapati Shivaji International Airport.
v. Kakrapara - Nuclear power plant.
vi.Murshidabad - Silk Textile Industry

Page 8 of 10



INDIA

Ar + 8 & b 7 8 i A P bR

Bl dis-Rndn BihA kA ERdE AR l|:'Il-l||-_l"-].'lr
i e

a
iF
L
%
e — - ——annsnua

Page 9 of 10



Page 10 of 10



